G“Mﬁ%é/ﬁﬂwm

faptant - Cleichuang v KoqplleottdinaZec:

P(keY) =

rimy

Cly) = €  m £ €.

V(+) vig) 1y¢).

vP = bol¥] + {2 /5'74--/,/)9) -

WWW

wﬁ%&%,
12 2r _
5(W€a§)+/2 7€)V Y
WWM&Z Xz o4& > :mf’—%:’j;%
ﬁp .—_,[‘f_’x)a)(
* _JF=0



m=0.

—

o .
A X [(1-x) 8]+ AFP=2

] - : [x(:jfﬂjf)
—fe X = fosny ti
Lot * | .
pix)= X% Z 4 X’
V=€
Jtad-1

PI/X} - Z‘iﬁv a)- [J"l' 0‘) X

y(x) =‘;§ @ ()+d) (J”"l”)xh'z-z
A [11-x) 42
Jx );7]= /1«><2)P”—ZYPI
Jz: OJ-[J""Z) [jtd-1) [4-—x~»))(i~u—z r;—Z:J
s~ 7 G + J¥d = . ’ g
520, 4) X +2',€52,'XJ“ = e



3
E {ayz /J+ol+2) [ +J +1) "ﬁd [J'w)[./'-f-&-/)—zaj(,}uh;,%}xho&:ﬂ

e S g (312 *)
) — - Xd'-?-)
Jo0r jz-2 (0229 2o 4 =0 |
L~
) = /J+7:{) a,,al,{.l-l»f):ﬁ [ x )
)=

. - _ o
a (J‘+Jﬂ)()uu>—,[uu)/ﬂnf) a4,
Jr2

RTINS
=0 Rj,a = (j41)(147)




fex)

\
p (1) =1 = finied 2, b Ao

P(x)=1

P{/x) = X

+ .7
px) = 4 (33X

1 *-3X
Psix) = 7 (<X )
1 /3¢ xt-70x"1%)

pq[’\,): J - . T

R

PC/X) - 2t-0! dx’



4) W%&W
4 = w CEC.
j@,(x)-@(x)p(x_ol tis €

_1 4

2 2
§(reo) x = Fer
-1

/="
inddpleest v Flx), [-1cX<1)
) Drthtandipheit
F(X]:'F?']fe p&’[X)
fo =

2647 fF/X)’ Y, (x)dX
2 =1



Qaslind - dnteil o Aoplace - Clichneiy.
A= ller),  €=a

Vi) 1 [rr )z €le+1)
% ‘7"
AV 4o LV pree) V
2r G g =t
U (¥)
‘/[P)" =
av. ¥ K
2
2 n / Z{
;'L/I/__ZL—ZE—-PZ',?
A+ r re 74

® £+7) =
I—ZZ_I_PZ("__ZZ(,"'Zr “ i
— —~nr~ (+1> _ - u—AP +Er-£
01'&&( - "/ &(—45 '—7
v __— r



	Folie 1
	Folie 2
	Folie 3
	Folie 4
	Folie 5
	Folie 6

